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$WODV RI *LDQW 'LSROH 5HVRQDQFHV

3DUDPHWHUV RI 3KRWRQXFOHDU 5HDFWLRQ &URVV 6HFWLRQV

$V D SDUW RI WKH SUHVHQW SURMHFW� DQ $WODV RI *LDQW 'LSROH 5HVRQDQFHV ZDV SURGXFHG
E\ WKH 0RVFRZ JURXS >�@� 7KH $WODV FRQVLVWV RI WZR SDUWV�

q 7DEOH RI SDUDPHWHUV RI JLDQW GLSROH UHVRQDQFHV REVHUYHG LQ SKRWRQXFOHDU UHDFWLRQ
FURVV VHFWLRQV� DQG

q *UDSKV RI SKRWRQXFOHDU UHDFWLRQ FURVV VHFWLRQV IURP WKH LQWHUQDWLRQDO QXFOHDU GDWD
OLEUDU\ (;)25�

)RU WKH XVHU FRQYHQLHQFH� WKH 7DEOH LV UHSURGXFHG LQ WKH SUHVHQW $SSHQGL[� $ UHDGHU
LQWHUHVWHG LQ WKH *UDSKV LV UHIHUUHG WR WKH :HE VLWH RI WKH &')(� 0RVFRZ 6WDWH 8QLYHUVLW\�
KWWS �   GHSQL�QSL�PVX�VX FGIH �

7KH 7DEOH LV DQ XSGDWHG �FRUUHFWHG DQG H[WHQGHG� YHUVLRQ RI WKH WDEOH 3DUDPHWHUV RI
WKH *LDQW 'LSROH 5HVRQDQFH SXEOLVKHG LQ >��@� ,W LQFOXGHV SDUDPHWHUV RI WKH *'5 REVHUYHG
LQ SKRWRQXFOHDU UHDFWLRQV PHDVXUHG E\ EUHPVVWUDKOXQJ� TXDVLPRQRHQHUJHWLF� DQG WDJJHG
SKRWRQV� 7KHVH SDUDPHWHUV ZHUH REWDLQHG GLUHFWO\� ZLWKRXW DQ\ VSHFLnF nWWLQJ SURFH�
GXUH� IURP WKH FURVV VHFWLRQV IRU YDULRXV SKRWRQXFOHDU UHDFWLRQV� VXFK DV SKRWRDEVRUSWLRQ�
QHXWURQ \LHOG� WRWDO QHXWURQ SURGXFWLRQ� VLQJOH� GRXEOH DQG WULSOH QHXWURQ SURGXFWLRQ�
FKDUJHG SDUWLFOH HPLVVLRQ �SURWRQ� GHXWHURQ� WULWRQ� �+H� DOSKD�� DQG nVVLRQ�

7DEOH HQWULHV DUH RUJDQL]HG E\ HOHPHQW� LVRWRSH� DQG UHDFWLRQ RUGHUHG E\ SURGXFW IURP
QHXWURQ WR DOSKD� 7KH 7DEOH FRQWDLQV LQIRUPDWLRQ RQ WKH *'5 SDUDPHWHUV GHULYHG IURP
WKH GDWD IRU �� HOHPHQWV ���� LVRWRSHV DQG QDWXUDO FRPSRVLWLRQV� ZLWK DWRPLF QXPEHUV
IURP � WR ��� 7KH HQWULHV IRU DOPRVW DOO WKH ��� SKRWRQHXWURQ FURVV VHFWLRQV REWDLQHG ZLWK
TXDVLPRQRHQHUJHWLF SKRWRQV >�@ DUH DOVR LQFOXGHG� 7KHUH DUH DOWRJHWKHU ���� HQWULHV�

1XPHULFDO GDWD SUHVHQWHG IRU WKH UHDFWLRQ FURVV VHFWLRQ �SHDN HQHUJ\ DQG SHDN FURVV
VHFWLRQ� VHH QRWDWLRQ WDEOH EHORZ� ZHUH REWDLQHG HLWKHU GLUHFWO\ IURP WKH UHOHYDQW VXEHQWU\
�GDWD VHW� RI WKH (;)25 OLEUDU\� RU HVWLPDWHG �WRJHWKHU ZLWK WKH GDWD IRU WKH SHDN ZLGWK�
XVLQJ WKH JUDSKV SUHVHQWHG LQ WKH RULJLQDO SDSHUV �VHH UHIHUHQFH DQG nUVW DXWKRU JLYHQ LQ
WKH WDEOH�� RU LQ WKH 3KRWRQXFOHDU 'DWD $EVWUDFW 6KHHWV >�@�

1XPHULFDO GDWD IRU WKH LQWHJUDWHG FURVV VHFWLRQ DQG LWV nUVW PRPHQW ZHUH REWDLQHG
HLWKHU E\ UHDGLQJ IURP WKH RULJLQDO SDSHUV �ZKHQ DYDLODEOH�� RU E\ GHGXFLQJ IURP WKH
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)LJXUH $��� 6FKHPDWLFDO H[SODQDWLRQ RI *'5 SDUDPHWHUV� GHVFULELQJ H[SHULPHQWDO SKRWRQXFOHDU

UHDFWLRQ FURVV VHFWLRQV� 3DUDPHWHUV ZHUH REWDLQHG GLUHFWO\ IURP H[SHULPHQWDO FXUYHV� QR nWWLQJ

WR /RUHQW]LDQ VKDSH ZDV SHUIRUPHG� 6KRZQ LV WKH FDVH ZLWK � SHDNV �SHDN HQHUJ\ DQG SHDN FURVV

VHFWLRQ RI WKH VHFRQG SHDN ZLOO DSSHDU DW WKH �QG OLQH RI DQ HQWU\ LQ WKH WDEOH�� 7KLV FDVH DOVR

LOOXVWUDWHV WKDW WKH ):+0 PD\ EH ODUJHU WKDQ WKH ZLGWK RI DQ\ RI WZR /RUHQW]LDQV WKDW ZRXOG

GHVFULEH WKH FXUYH� ,Q FDVHV ZKHUH WKH H[SHULPHQWDO FXUYH UHIHUV WR D UHDFWLRQ FKDQQHO ZLWK KLJK

WKUHVKROG RU ZKHUH WKH FXUYH LV WUXQFDWHG E\ ODFN RI KLJK HQHUJ\ GDWD� WKH ):+0 PD\ EH VPDOOHU

WKDQ WKH ZLGWK RI WKH /RUHQW]LDQ FXUYH�

(;)25 GDWD VHWV� RU E\ UHDGLQJ IURP WKH DSSURSULDWH 7DEOH LQ 5HI� >��@� 'DWD VRXUFHV
ZHUH WKH LQWHUQDWLRQDO QXFOHDU GDWD OLEUDU\ (;)25 FRQWDLQLQJ H[SHULPHQWDO FURVV VHFWLRQV
GHVFULEHG LQ 6HF� ������ DQG WKH SKRWRQXFOHDU GDWD FROOHFWLRQV ��������� >��@ DQG �����
���� >�@�

%HVLGHV WKH XVXDO QRWDWLRQ IRU UHDFWLRQV DQG UHDFWLRQ SURGXFWV GHVFULEHG LQ &KDSWHU
�� WKH IROORZLQJ QRWDWLRQ LV XVHG LQ WKH 7DEOH �VHH H[SODQDWRU\ nJXUH��

(;)25 (;)25 ��GLJLW HQWU\	VXEHQWU\ QXPEHU
1XFO 7DUJHW QXFOHXV �V\PERO�
$ 7DUJHW QXFOHXV �PDVV QXPEHU�
5HDF 5HDFWLRQ
(PD[ (QHUJ\ DW FURVV VHFWLRQ PD[LPXP �SHDN HQHUJ\� LQ 0H9
}PD[ 3HDN FURVV VHFWLRQ LQ PE
):+0 )XOO ZLGWK DW KDOI PD[LPXP LQ 0H9
(LQW 8SSHU OLPLW RI LQWHJUDWLRQ LQ 0H9
}LQW ,QWHJUDWHG FURVV VHFWLRQ LQ 0H9 
 PE
}�

LQW
)LUVW PRPHQW RI WKH LQWHJUDWHG FURVV VHFWLRQ LQ PE

5HIHUHQFH 2ULJLQDO SDSHU
$XWKRU 1DPH RI WKH nUVW DXWKRU

,I WKH FURVV VHFWLRQ SUHVHQWV PRUH WKDQ RQH SHDN� WKHQ WKH (PD[ FROXPQ ZLOO KDYH PRUH
WKDQ RQH OLQH IRU WKH VDPH HQWU\�
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